
The following SLOs for the Industrial Engineering program are assessed during the 2015-16 
Academic Year: 

 

Year 3 : 2015 - 2016  !

 
 
 
1.Which SLO(s) to assess 
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)*+#3*d	needs	within	realistic	constraints	such	as	economic,	
environmental,	social,	political,	ethical,	health	and	safety,	
manufacturability,	and	sustainability.		
Assessed	in	ENGR	4620,	senior	design	by	Dr.	Bowen	(Spring	2016)	
SLO	e	-	An	ability	to	identify,	formulate,	and	solve	engineering	
problems.	
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Assessment results show that students have a more difficult time with SLO (c). This is because


